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NaOH = 40.0

KOH = 56.1

NaNO; = 85.0

Mg(NO3), 8H,O = 256.4
Al(NOz); 9H,0 = 375.1
Fe(NOz); 9H,O = 404.0

KMnO, = 158.4

35ml 2
60ml 4
3.5mm 2
6.0mm 1
2.5cm
10.0 cm
250 ml

250 ml
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16.

10 x10 cm
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(1)20H" + 2H" () >  2H,+ 0,

NaOH KOH NaNO Mg(NO ) AI(NO )  Fe(NO ) KMnO
3 32 3'3 3’3 4

MHD Magnetohydrodynamic effect

1. 35 ml
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DC
250 ml NaOH 2M KOH 2M NaNO;2M Mg(NOs),
2M  AI(NO3); 2M  Fe(NO3); 2M KMnO, 0.01M  NaOH
KOH NaNO; Mg(NOz), AI(NO3z); Fe(NO3)s
60 ml
(1) KMnO, ©))
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(1o

2M
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0 30
¢H) KOH 2M NaOH 2M
15ml NaNO3; 2M Mg(NO3), 2M Fe(NOs3);
Iml
R 0 R
R® = / )
5
_|_




(2)

2000 3000 4000 5000 6000

€)) KOH 2M
NaOH 2M 15ml NaNO3; 2M Mg(NO3),
2M  Fe(NO3); 2M 5ml AI(NO3); 2M
1ml
R R
( R® = / )
3)
KMn0O,40.01 M @)



) 0

1. 20V NaOH2M KOH2M 6000
(1) NaOH KOH
1
\Y% 0

NaOH KOH
20.0 0 0 490 460
20.0 | 6000 | 0 455 420
20.0 | 6000 | 45 470 435
20.0 | 6000 | 90 480 445
20.0 | 6000 | 135 465 435
20.0 | 6000 | 180 460 425
20.0 | 6000 | 225 465 435
20.0 | 6000 | 270 480 445
20.0 | 6000 | 315 470 435
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©)) NaOH KOH 2
2
mA
\Y% 0

NaOH KOH
20.0 0 0 170.0 230.0
20.0 6000 0 185.0 250.0
20.0 6000 45 177.5 242.5
20.0 6000 90 175.0 235.0
20.0 6000 135 177.5 242.5
20.0 6000 180 185.0 252.5
20.0 6000 225 177.5 242.5
20.0 6000 270 175.0 235.0
20.0 6000 315 180.0 245.0
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270
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23606
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156
Nor 0 45 90 135 180 22¢)|2

. |

—+NaOH = KOH
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(3)

NaOH KOH

3| 6000
Y% 0

NaOH KOH
20.0 0 0 1.0000 1.0000
20.0 | 6000 0 1.0769 1.0952
20.0 | 6000 | 45 1.0425 1.0574
20.0 | 6000 | 90 1.0208 1.0337
200 | 6000 | 135 1.0537 1.0574
20.0 | 6000 | 180 1.0652 1.0823
20.0 | 6000 | 225 1.0537 1.0574
20.0 | 6000 | 270 1.0208 1.0337
20.0 | 6000 | 315 1.0425 1.0574
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2. 20V NaNO3 2M  Mg(NOs), 2M  AI(NOg3); 2M
Fe(NO3);2M 6000
D NaNO; Mg(NOs), AI(NOg); Fe(NOs)s
4

4

v 6 ()
NaNOz; | Mg(NOs3), | AI(NO3); | Fe(NOs3);

200 O 0 1890 1770 3120 2640
20.0 | 6000 | 0 1590 1470 2700 2160
20.0 | 6000 | 45 1650 1530 2820 2250
20.0 | 6000 | 90 1740 1620 3000 2310
20.0 | 6000 | 135 1660 1530 2820 2240
20.0 | 6000 | 180 1580 1470 2710 2150
20.0 | 6000 | 225 1650 1530 2830 2230
20.0 | 6000 | 270 1750 1620 3000 2300
20.0 | 6000 | 315 1650 1530 2820 2250
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270
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2

NaNO; Mg(NO3s), AI(NO3); Fe(NOs)s
5
5
\% 0 mA
NaNO; | Mg(NOs), | Fe(NOs)s

20.0 0 0 112.5 110.0 105
20.0 | 6000 | 0 127.5 122.5 117.5
20.0 | 6000 | 45 122.5 117.5 112
20.0 | 6000 | 90 115.0 112.5 107.5
20.0 | 6000 | 135 122.5 117.5 112
20.0 | 6000 | 180 125.0 125.0 117.5
20.0 | 6000 | 225 122.5 117.5 112
20.0 | 6000 | 270 117.5 112.5 107.5
20.0 | 6000 | 315 120.0 115.0 112

AI(NO3)s 4
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3) NaNO; Mg(NO3), AI(NOg)s Fe(NOs)s
6000
v 0
NaNO; |Mg(NO3),| AI(NOs)s | Fe(NOs)s
20.0 0 0 1.0000 1.0000 1.0000 1.0000
20.0 | 6000 0 1.1887 1.2040 1.1555 1.2222
20.0 | 6000 | 45 1.1455 1.1568 1.1064 1.1733
20.0 | 6000 | 90 1.0862 1.0925 1.0400 1.1429
20.0 | 6000 | 135 1.1386 1.1568 1.1025 1.1786
20.0 | 6000 | 180 1.1962 1.2012 1.1513 1.2279
20.0 | 6000 | 225 1.1455 1.1568 1.1064 1.1839
20.0 | 6000 | 270 1.0800 1.0925 1.0400 1.1478
20.0 | 6000 | 315 1.1455 1.1568 1.1064 1.1733
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(4) Al(NO3); 2M 7
7 Al(NO3)3 mA
AI(NOz)s
\% ()
6000Gauss

20.0 0 0 0

20.0 15 85.0 87.0
20.0 30 82.5 85.0
20.0 45 82.5 82.5
20.0 60 80.0 77.5
20.0 75 65.0 72.0
20.0 90 47.5 57.5
20.0 105 22.5 40.0
20.0 120 7.5 25.0
20.0 135 5.0 15.0
20.0 150 5.0 7.5
20.0 165 5.0 7.5
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1.

1)

)

20V NaOH2M KOH 2M 0 2000

3000 4000 5000 6000
NaOH KOH 8

8

v

NaOH KOH

20.0 0 490 460
20.0 2000 485 455
20.0 3000 475 450
20.0 4000 470 440
20.0 5000 465 430
20.0 6000 455 420
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4 2 0

410

400 1 1 1 1 ]
OGauss 2000Gad99 BAIODWVL=ab6dHH850Gauss 60

—— NaOH —=—KOH
( NaoGH) ( KOH)
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(2

NaOH KOH
9
mA
v

NaOH KOH
20.0 0 170.0 230.0
20.0 2000 172.5 232.5
20.0 3000 177.5 235.0
20.0 4000 180.0 240.0
20.0 5000 182.5 245.0
20.0 6000 185.0 250.0
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®)

NaOH KOH 10
10
v
NaOH KOH
20.0 0 1.0000 1.0000
20.0 2000 1.0103 1.0110
20.0 3000 1.0315 1.0222
20.0 4000 1.0425 1.0454
20.0 5000 1.0538 1.0698
20.0 6000 1.0769 1.0833

28




10 15

15

N

v
(@)
J 0O
o
g U
A ] ] ] ] |
. J ==
0 Gauss 2000Gauss 3000Gauss 4000Gauss
——Na OH —=—KOH

( Na OH— ( KOH)

29



2. 20V NaNO;2M Mg(NO3)2 2M Fe(N03)3 2M

0 2000 3000 4000 5000 6000

D) NaNO; Mg(NO3), Fe(NO3);
11
11
v
NaNO; Mg(NO3), Fe(NOs)s
20.0 0 1890 1770 2640
20.0 | 2000 1760 1680 2430
20.0 | 3000 1710 1600 2370
20.0 | 4000 1670 1555 2300
20.0 | 5000 1620 1500 2230
20.0 | 6000 1590 1470 2160
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28 070

260

@D

240

P

220

P

200

1800\

D

/

160

1400 | | | | | |
0 Gauss 2000Gauss 3000Gauss 4000Gauss 5

+—NaNO = Mg/(NO rFe (GNO )




(2) NaN03 Mg(NO3)2 Fe(NO3)3

12
12
mA
v
NaNO; Mg(NO3), Fe(NO3);

20.0 0 112.5 110.0 105
20.0 | 2000 116 115.0 107.5
20.0 | 3000 121 118 110
20.0 | 4000 125.5 120 110
20.0 | 5000 127.5 122 111.5
20.0 | 6000 127.5 122.5 112
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3)

NaNO; Mg(NO3), Fe(NOs);
13
13
v
NaNO; Mg(NO3), Fe(NO3)3
20.0 0 1.0000 1.0000 1.0000
20.0 | 2000 1.0738 1.0536 1.0864
20.0 | 3000 1.1052 1.1063 1.1139
20.0 | 4000 1.1317 1.1382 1.1748
20.0 | 5000 1.1666 1.1800 1.1838
20.0 | 6000 1.1887 1.2040 1.2222
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0. 5
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0Gauss 2000Gauss 3000Gauss 4000Gaus
+NaNO —=Mg(NO SFe(;NO )
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3. 20V KMnO, 0.01M 0 6000
(1) KMnO4
14
14
mA
v
Ohr | hr | 29 hr | 3° hr | 4" hr
20.0 0 113 108 106 99 90
20.0 6000 116 110 108 103 95
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20

HCI  H,SO,

v
HCI H,SO,
20.0 0 930 570
20.0 6000 870 555
21
mA
v
HCI H,SO,
20.0 0 51 82
20.0 6000 55 82.5
21
v
HCI1 H,SO,
20.0 6000 1.0689 1.0270
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2000 3000 4000

6000

15 18

14 17
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16

5000

6000



()

() 6000
3 8 6
11 6000Gauss
e 0" 180° R
e 90" 270°
R
R
0 45° 135 225°  315°
0° 90
45° 3 8
6 11
Rmax e 0° 180°
Rmin ) 90° 270° 0

CosB
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() NaOH KOH

1 6 NaOH.
KOH %% KOH /& NaOH
Na K K*
Na"
K Na K
KOH H* OH Na
NaOH H* OH
2M  KOHggy PH  (12.60) 2M  NaOHq PH
(11.85) PH
6000Gauss KOH(aq)
NaOH g

PH
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NaOH KOH

KOH MHD
H" OH PH OH"
H* 1L
KOH Imole NaOH PH

PH
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Na*

1mole



() NaNOz Mg(NO3z), AI(NOs3)3

Fe(NO3)s3
AP Fe*
6 11
Mg(NO3)2> NaNO3z> Al(NOs); AI(NOS),
10mA
Fe(NO3)3 11 Fe(N03)3
Mg(NO3)2 NaNO; A|(N03)3 Fe3* Mgz+

Na’

NOS- ( Mg(NO3)2
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()

6000Gauss

KMnO4

20

MnO,
MnO,

14 19
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0.01M



(

)

17 HCI> H,S0,4
) PH
PH =2 HCI H,S0,
HCI

H,SO4 HCI H,SO,
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()

R( ) Ro ( ) H ( )
()
180°
R cosO

R( ) Rof ) H( ) Xcos®
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m= Z x E t—(a)
m= Rp x
(a)
Rp = Z X E
Il H X cC0S 0O
R
R cosB
cos90= 0 0
Rp= kX X C0S O x E
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( ) Na+ Mg2+ A13+ F e3+

ALY Al(NO;)s

AI(NO3)s

Fe(N03)3 Mg(NO3)2

NaNO; AI(NO3); Fe(NO3)s

() Na®™ K-

NaOH PH
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Fe’'> Mg™'> Na™

B Fe(NO3)3

KOH

KOH NaOH



()

PH 2 HCI

H,SO, HCl H,SO,

()

2M  KOH 2M NaOH 1L

ImoleKOH 1moleNaOH
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